1000/0 2do)/d(m_1 + m_2) [1/GeV]

Ratio to CMS

=
o
w

=
o
N

=
o

=

[
<
I

1072

0.5

7000 GeV pp Z+Jet
:|_ I I I | I I I | I I I | I I__ ﬂ
— o
- Trimmed jet mass (anti-k (0.7), 125<p <150, |y|<2.5) a2
B 13
— 10
Q
— = =)
[ 1<
- A
- o
B o
=
= =T
i =
I — ™
— <
— =M
= 19
— m CMS -9
~  --0-- Herwig++ 2.7.1 default _i
— --4-- Herwig 7.2.1 default — 5
— —&— Pythia 8.308 default =
. --¥-- Pythia 8.308 vincia-default <
o ¢ Sherpa 1.4.5 default . 8
)
= =09
— Ha
— - O
| | | | | | | | | | | | | | ] =
:l T T T | T T T | T T T | T I:
— =2
1
- ' —05
| 1 1 1 | 1 1 1 | 1 L | | ? 1
0 20 40 60

(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


